FHER

S10NPOId WSISAS B i~NISI\”

BEIRAANN(OA=F) AT—Y / T—=T VAL X 50%X50
Motorized Swivel (Tilt) Stages / Table Size 50x50

letasnpu

@
5 M
=
o
3 X
=~y %
Y&
A
1
S SAO05A-R2S
Nz g SAO5A-R2L
Q -
2 SAO5A-R2T
2 SAO05A-R2M SAO5A-R2B
o
[}
EE!
g &
g 4-®2 Depth 4mm 'CCW Limit Sensor
4-M3 Depth 4mm Home Position
4-M3 Depth 3.5mm CW Limit Sensor 120 3 Depth 3mm
22 ] e 1
i ;l\: ] ﬂwﬁ [¢]
= = Hife
= %emﬁ et L ﬁg
\z_; 1 R |- = —
? el =
EEZ s 30 3 Depth 3mm
15 4 (22) =i
4 40 Back Side
A (9.5) 50 (65.5)
3
X (125)
£ ;
% i Rotation Center Rotation Center Rotation Center
| |
@ 3 cw } cw ©
& [ © ow | cow $
z & | s oy oW
2 ) _
S 4-for M3 screws 1 L o
Shaft length 3mm L]
4-for M3 screws
@ SAO5A-R2T Shaft length 3mm
o SAO5A-R2M 4-for M3 screws
i fr( Shaft length 3mm
jL\: @ SAO05A-R2B
’é}
3
!
© L1 | ||
9 120
= £
y _ﬁaﬂq ‘ 3 Depth 3mm “E)
A ]|z i
< e oo W] T T 8
iz @% K _ sl B | ] % S & =
=) 2 2 i [ ] ~LA
27 8 ; et ERRF i
D s =
%~ o° e = | [&]
5= 4-for M3 screws S
m O & — Shaft length 3mm
23 a1 15 50 (65.5) 34
=5 =
% S é (130.5)
(]
Rotation Center Rotation Center
>
£7 8 o
¢ & © CW | CCW
o — =
87 @
— ] )
> p h
22 % ] o
5 g, > 3| <
s A 1
> @ SAO05A-R2S s @ SAO05A-R2L
K-012  CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail]e-sale@kohzu.co.jp [URL]http://www.kohzuprecision.com



Y 3 E
- — < B - s Z 53
PLS/ YARA=FHIK / F=WzxS AL
. . 58 -
Aluminum Body / Cross-Roller Guide / Ball Screw 2
2
5 ke
et » 3R
M SAO5A-R2T SAO5A-R2M SAO5A-R2B SAO5A-R2S 1 SAO5A-R2L %2 © A
odel Number s B
[ERTIRETES ¢ g
Mirror Model Number ~ B
F—7I)VE
Table Size SO g =R
RHHR WE/ORAO—SHAK m 2%
Guide Mechanism Cross-Roller Guide %
[ElEne# o o o +5°(R2T), +4.5°(R2M), >
ey r— +5 =S +35 +£4.5° (R2M) +°35(R2B) i
EOPES A= %, U—K1.0mm -
Lead Mechanism Ball Screw, Lead 1.0mm 2 z
TIIIN=T ZAFTVT | o ol o o A o - |220.002126°/0.001063" (R2T), |~ 0.001594°/0.000797° (R2M), s
Pt | FiHarser |~ 00021267/0.001063"| ~0.001594'/0.000797" ~ 0.001274'/0.000637" |, 4 001594'/0.000797" (ReM) | ~ 0001274/0000837" (R28) &
Resolution ™ " | v140A7vy7 (1/2078) ~ o ~ o ~ o 2~ 0.0001063°(R2T), | =~ 0.0000797° (R2M), @
Micro Step (1/20 div) |~ 00001063 = el ~0.0000637" | » 50000797° (R2M) | ~ 0.0000637° (R2B)
RERE ° . o . o . 16°/sec(R2T), 12°/sec(R2M), o
e S 16°/sec : Half 15kpps | 12°/sec : Half 15kpps |9.6°/sec : Half 15kpDS| 40c00 mow): Half 15kpps | 9.6/sec(R2B): Half 15kops 2 E
WELILERORE <+0.003° 1
epeatability
Ev i ada 50mmz=0.2mm 68mm=0.2mm 86mm=0.2mm 50mm=:0.4mm 68mm=0.4mm
ork Distance
T (%)
R @i.ﬁqm'gmg $0.05mm/+5° $0.05mm/+4.5° $0.05mm/£3.5° $0.1mm/+4.5° ®0.1mm/+£3.5° S ?
otation Center Error 3 &
HANE—Ya> . P
Lost Motion =0.003 ==
NTSyTa 3 7
Backlash =0.003 z
E—XMHE . . P X
Moment Load Stiffness 0.41 arcsec/N-cm 1.20 arcsec/N-cm x §
IKIEMTRE
Load Capacity (Horizontal) 29.4N (3kef)
e TIVIES
Material Aluminum Alloy N7
S8 S)=N =
Finish Clear-Matt Anodizing
BE
Weight 0.27kg 0.54kg
EQE . — =90°*1’
Perpendicularity T @
S g =
SHATYEYVIE—R— PK513PB () I &I E—&—: ERERO.35A/M, EARTYTH 0.72°, U—RR5A) ] iR
5 Phase Stepper Motor PK513PB (Oriental Motor: Phase Current 0.35A, Basic Step Angle 0.72°, 5-Leads) g'
mE S #2208~ (EO+: RP13A-12JG-20PC)
Connector 20Pin Round (Hirose: RP13A-12JG-20PC)
AT —IREREAT
Stage Wiring Type e V2 9
T ERRK F-106(HOME,LIMIT), BFi&(Y: F-106R(HOME,LIMIT) i
Sensor Model F-106(HOME,LIMIT), Mirror Model: F-106R(HOME,LIMIT) 3
it 1
Price(JPY) ¥170,000 ¥340,000
F—N—FKR—IE& ~ =
Overhaul Price = ¥36,000 ¥72,000 > ;
5o
TU=2 D AR %
Clean Room Lubricant Change Price ¥24,000 ¥48,000 {
HRSURRRE 2
Vacuum Lubricant Change Price ¥24,000 ¥48,000 L
EIE—8—3H0H - -
Same Size Motor Change Price ¥12,000 ¥24,000 ?;’ %
BERET—4—THEE - - 52
Different Size Motor Change Price #10 LD ERile 1%} 7|_
Qo
%1 SAO5A-R2SId. SAO5A-R2T £SAOSA-R2MDFEAEHETY . F—N—FR—IBIIBRBRRIFEENERA. FHHICOVTIIERA-T% % =
“ ' Combination of SAO5A-R2T and SAO5A-R2M form 2-axes swivel stage model w7 BRLTFEL.
SAO5A-R2S. ) Additior}al partg cost is not included on Overhaul cost. Refer to page 16 for m o |
o SAOSA-R2LIS. SAOSA-R2MESAOSA-R2BOMAEDYTY. further information. 23
““  Combination of SAO5A-R2M and SAO5A-R2B form 2-axes swivel stage model J1)—=20) ZEHROBKRIEKEIC -C” HHEET. FMICDOVWTIE ss *x
SAOSAR2L. xg C-O0BR—YEBRLTFL, z B
. BFEL. BROMBEEIC DV TIRK-005~A—S 8B LTTE(, ’ Clean room lubricant model has “-C” at the end of model number. Page C-005 ¥
#3 Refer to page K-005 for Information on Standard and Mirror Symmetry for further information.
Configuration. R2J ) AMEROBRFRREIC V" BHEET. FMICOVTEC-005X
w4 ATF—VOBEEN—TAFY T THEOTHYET. xg “YEBRLTFEL, e
# Stage is inspected by half step setting. Vacuum lubricant model has “V” at the end of model number. Page C-005 for o _g
. — further information. o
wr AMNLAF—UBGHOT—AY MIERO—LEIEELYET. e s 2V
H5 Joment Stiffness of single swivel stage is measured in Roll Direction. %10 E— R —HROFMITONTIEC-004N—VEBRLTTEL, o IIJ
6 2T — AR DAIC DN TIEN-032.N-034 5888 LT F &\, Page C-004 for further information about motor change.

Refer to page N-032,N-034 for stage wiring connection information.

Mg E—F—a> hO—F + RIA/NTDWTIEN-002RX—=TZ BB L TTF X,
Refer to page N-002 for information on corresponding motor controller and driver.
ST BE—E—T—TINCDNTIEN-018RX—=JZ BB L TTFEL,

Refer to page N-018 for information on corresponding motor cable.

HEVAEDEIETEL:044-981-2131,/FAX:044-981-2181

[E-mai

7Y VICDNTIEO-001X=2Z BB L TTEL,
Refer to page 0-001 for information on accessory.
o FEEROZELZICKYHRRBOLED AV ET, FLIIERBETHHEVADETI0.

We appreciate the product customizing. Contact us for further information.

I]sale@kohzu.co.jp [URL]http://www.kohzu.co.jp

walsAs
uonoadsu|

DI\

x
o
=
w



